Unit 6 Day 9 Notes: Exponential Growth Kua’
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Here's a data table/sQ/rite an exponential equation to fit this data: \I‘ a ¢
X 1 [/o\| 1 2 3 4
y - w 15 45 | 135 | 405
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Let’s try an application: 4 >

A population of 10 rabbits is released into a wildlife region. The populatioach year for 5 years.
Fill out the table below to figure out how many rabbits there would be after 5 years and answer the
questions.

Time(x) 0 1 2 3 4 5 ¥
Population(y) | [0 |30 |Q0 1270 210 2H30) 1600
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c) Write the equation that predicts the /
population of rabbits based on the number 200 4
of years that have passed. .
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d) Do you think this equation holds true for
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e) Draw an appropriate graph.
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Name the rate of growth (or growth rate) and startin‘g amount.
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Another application: a=10 r=.%

If you start with(10 rabbits And the population grows at a rate of 50% per year (notice this is much
slower than the example on the front).
a) Write an equation to model this situation
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b) Predict how many rabbits there will be after 5 years. = ‘t
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